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You should write your own summary notes here.

Make these as you re-read through each of your notes 
booklets.

This might be diagrams, or vocabulary definitions.
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Chromatin is the form the DNA molecule takes during normal cell functioning. It is coiled and condensed in places and loose and 
functioning in others. Chromosomes are the form the DNA molecule takes when a cell reproduces. The DNA molecule has 
duplicated and is very coiled and compact. takes when a cell reproduces. It is so coiled that the chromosome structures are clearly 
visible under the light microscope.

Two new nuclear membranes reform around the nuclear material but the cell membrane only separates the cytoplasm 
(including organelles) of the original cell into two new cells.

They both produce daughter cells with identical genetic information (DNA), the process in both includes mitosis 
and cytokinesis, they both require a favourable environment for asexual reproduction to occur.

The spores are produced by mitosis. The spores are genetically 
identical to the bracket fungus.

In meiosis, the number of chromosomes in each cell is reduced from 
the normal or diploid number, to half that, the haploid number.

Vegetative propagation means that each apple tree is genetically identical to the others, there is no genetic variation. 
If one plant has no resistance to the disease, then all the plants can be affected by the disease, especially in an area 
with trees closely spaced together. The orchard could lose all the trees to the disease.

In some cases, the behaviour allows members of the same species to find or recognize each other, and a bond to form 
between two sexually mature individuals. This bond ensures the mating pair will work together to ensure reproduction.

DNA consists of two strands linked like a ladder and twisted as if the two strands are wrapped around a stick or pencil. 
The ladder consists of four building blocks called nucleotides, often represented by the letters A, T, C, and G.
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